
 
If in 𝚫𝑨𝑩𝑪, 𝒂 ≠ 𝒃 ≠ 𝒄 ≠ 𝒂 then: 

(
𝒂𝟑(𝒄 − 𝒃) + 𝒃𝟑(𝒂 − 𝒄) + 𝒄𝟑(𝒃 − 𝒂)

𝒂𝟐(𝒄 − 𝒃) + 𝒃𝟐(𝒂 − 𝒄) + 𝒄𝟐(𝒃 − 𝒂)
)

𝟐

< 𝟐𝟓𝑹𝟐 +
𝟖√𝟑 𝑭

𝟗
 

Proposed by Daniel Sitaru – Romania  

Solution by Tapas Das-India 

𝒂𝟑(𝒃 − 𝒄) + 𝒃𝟑(𝒄 − 𝒂) + 𝒄𝟑(𝒂 − 𝒃) = 𝒂𝟑(𝒃 − 𝒄) + 𝒃𝟑𝒄 − 𝒄𝟑𝒃 + 𝒃𝟑𝒂 + 𝒄𝟑𝒂 

= 𝒂𝟐(𝒃 − 𝒄) + 𝒃𝒄(𝒃𝟐 − 𝒄𝟐) − 𝒂(𝒃𝟑 − 𝒄𝟑) 

= 𝒂𝟑(𝒃 − 𝒄) + 𝒃𝒄(𝒃 + 𝒄)(𝒃 − 𝒄) − 𝒂(𝒃 − 𝒄)(𝒃𝟐 + 𝒃𝒄 + 𝒄𝟐) 

= (𝒃 − 𝒄){𝒂𝟑 + 𝒃𝟐𝒄 + 𝒃𝒄𝟐 − 𝒂𝒃𝟐 − 𝒂𝒃𝒄 − 𝒂𝒄𝟐} 

= (𝒃 − 𝒄){𝒂(𝒂𝟐 − 𝒃𝟐) + 𝒃𝒄(𝒃 − 𝒂) + 𝒄𝟐(𝒃 − 𝒂)} 

= (𝒃 − 𝒄)(𝒂 − 𝒃){𝒂(𝒂 + 𝒃) − 𝒃𝒄 − 𝒄𝟐} = (𝒃 − 𝒄)(𝒂 − 𝒃){𝒂𝟐 + 𝒂𝒃 − 𝒃𝒄 − 𝒄𝟐} 

= (𝒃 − 𝒄)(𝒂 − 𝒃){(𝒂 − 𝒄)(𝒂 + 𝒄) + 𝒃(𝒂 − 𝒄)} = −(𝒂 − 𝒃)(𝒃 − 𝒄)(𝒄 − 𝒂)(𝒂 + 𝒃 + 𝒄) 

∴ 𝒂𝟑(𝒄 − 𝒃) + 𝒃𝟑(𝒂 − 𝒄) + 𝒄𝟑(𝒃 − 𝒂) = −{−(𝒂 − 𝒃)(𝒃 − 𝒄)(𝒄 − 𝒂)(𝒂 + 𝒃 + 𝒄)} 

= (𝒂 − 𝒃)(𝒃 − 𝒄)(𝒄 − 𝒂)(𝒂 + 𝒃 + 𝒄)       (1) 

𝒂𝟐(𝒃 − 𝒄) + 𝒃𝟐(𝒄 − 𝒂) + 𝒄𝟐(𝒂 − 𝒃) 

= 𝒂𝟐𝒃 − 𝒂𝟐𝒄 + 𝒃𝟐𝒄 − 𝒃𝟐𝒂 + 𝒂𝒄𝟐 − 𝒃𝒄𝟐 + 𝒂𝒃𝒄 − 𝒂𝒃𝒄 

= 𝒂𝒃(𝒂 − 𝒃 + 𝒄) − 𝒂𝒄(𝒂 − 𝒄) + 𝒃𝒄(−𝒂 + 𝒃 − 𝒄) 

= (𝒂𝒃 − 𝒃𝒄)(𝒂 − 𝒃 + 𝒄) − 𝒂𝒄(𝒂 − 𝒄) = (𝒂 − 𝒄){𝒃(𝒂 − 𝒃) + 𝒄(𝒃 − 𝒂)}  

= (𝒂 − 𝒄)(𝒂 − 𝒃)(𝒃 − 𝒄) = −(𝒂 − 𝒃)(𝒃 − 𝒄)(𝒄 − 𝒂) 

∴ 𝒂𝟐(𝒄 − 𝒃) + 𝒃𝟐(𝒂 − 𝒄) + 𝒄𝟐(𝒃 − 𝒂) 

= −{−(𝒂 − 𝒃)(𝒃 − 𝒄)(𝒄 − 𝒂)} = (𝒂 − 𝒃)(𝒃 − 𝒄)(𝒄 − 𝒂)    (2) 

∴ (
𝒂𝟑(𝒄−𝒃)+𝒃𝟑(𝒂−𝒄)+𝒄𝟑(𝒃−𝒂)

𝒂𝟐(𝒄−𝒃)+𝒃𝟐(𝒂−𝒄)+𝒄𝟐(𝒃−𝒂)
)

𝟐

= (𝒂 + 𝒃 + 𝒄)𝟐 = 𝟒𝒔𝟐  (using (1) and (2) ) 

We need to show: 

𝟒𝒔𝟐 < 𝟐𝟓𝑹𝟐 +
𝟖√𝟑𝑭

𝟗
 

or 𝟒(𝟒𝑹𝟐 + 𝟒𝑹𝒓 + 𝟑𝒓𝟐) < 𝟐𝟓𝑹𝟐 +
𝟖√𝟑

𝟗
⋅ 𝒓 ⋅ 𝟑√𝟑𝒓 

(Gerretsen an Mitrinovic) 



 
or 𝟗𝑹𝟐 − 𝟏𝟔𝑹𝒓 − 𝟒𝒓𝟐 > 𝟎 

or (𝑹 − 𝟐𝒓)(𝟗𝑹 + 𝟐𝒓) > 𝟎   True (Euler) 

Conclusion: 

(
𝒂𝟑(𝒄 − 𝒃) + 𝒃𝟑(𝒂 − 𝒄) + 𝒄𝟑(𝒃 − 𝒂)

𝒂𝟐(𝒄 − 𝒃) + 𝒃𝟐(𝒂 − 𝒄) + 𝒄𝟐(𝒃 − 𝒂)
)

𝟐

= 𝟒𝒔𝟐 < 𝟐𝟓𝑹𝟐 +
𝟖√𝟑𝑭

𝟗
 

or, (
𝒂𝟑(𝒄−𝒃)+𝒃𝟑(𝒂−𝒄)+𝒄𝟑(𝒃−𝒂)

𝒂𝟐(𝒄−𝒃)+𝒃𝟐(𝒂−𝒄)+𝒄𝟐(𝒃−𝒂)
)

𝟐

< 𝟐𝟓𝑹𝟐 +
𝟖√𝟑𝑭

𝟗
 


